14GA. DURASAFE
CENTER HINGE ATTACHED

12 GA COMMERCIAL

= ; A 2+ TOP FIXTURE ATTACHED
2]#%:‘23"5 ,Ru('é';ﬁR,ﬁAERES. = AR A W/(4) 1/4° x 3/4° HEX HEAD SCREWS
BOLT & NUT PER BRACKET ‘ HEX HEAD SCREWS ADJUSTABLE SLIDE BRACKET ATTACHED
) o o A W/(@ 174° x 1/2° BOLT AND NUTS
[+
L 3% 18GA. STRUTS ATTACHED P SKIN 60D EH650D)
W/ @ 1/4° x 3/47
12 GA. GALV. COMMERCIAL ﬂ:: pd ey i e 34 @
TOP FIXTURE ATTACHED s , =
W/ 1747 x 3747 HEX 2° 10-BALL STEEL 4.5 EACH CENTER STILE —
HEAD SCREWS PER (MIN> STEM ROLLERS
BRACKET W/ 7/16* RETAINER FOR
ee NON-THREADED SHAFTS -
<
TYPICAL TOP FIXTURES ° SPLICE TRACKS AT THIS LOCATION
N.TS. W/ (4) 1/4"—20 TRACK SPLICE BOLTS & NUTS
MB WITH (3) 5/16" DIA. 8"
SEE PAGE 3 FOR DPTIONAL TYPICAL DURASAFE CENTER HINGE( o b e R e W ) 8/ x 1/
STRUT AND STILE LAYOUT N.T.S. A s -
5 (SPLICE)
A \ ’ (1) 5/16" DIA. x 1-5/8"
N A ; H \ D LAG BOLT ATTACHED TO JAMB
o = : = (THROUGH) AT EA. JAMB BRACKET
i STILE STIFFENERS (S H
! M LOCATED IN HINGE HOLECS)
~: ON TOP SECTION ONLY 12 GA. GALV. STEEL
3 8
END HINGE JAMB BRACKETS N
HOLES FOR STRUT 14 GA. ATTACHED W/ (1) 1/4"-20
ATTACHMENT (IF STRUT TRACK SPLICE BOLT & NUT
3 ! IS REQIURED) OR (2) RIVETS
. ~ ¢TOPY C —
i ! F
= - | THRI B
4 DUGH
i 2 P £ 3’ x 18 GA. STRUTS
; ; (2 PER SECTION EXCEPT A
— <> ON TOP SECTION |
D ! SEE (TABLE 3) ON PAGE 3
" e —I' | FOR JAMB BRACKET SPACING
c
: NOT SHOWN ; TYPICAL STILE STIFFENER ' . ,
4 FOR CLARITY | ; B NTS. L o) ‘v TRACK CONFIGURATION. FOR 6’6" UP TO 14’ TALL DOORS
i ! N.T.S.
' ; : A
b |
|..SEE TABLE 4 [ON PAGE 3 SEE (TABLE 1D ON PAGE 3
FOR' STILE PLACEMENTS e ——FOR STRUT SPACING
16°~0° MAX !

INSIDE_ELEVATION
N.T.S.

3* 18GA. STRUT STACKED
ON BOTTOM BRACKET
ATTACHED W/

@) 174" X 3/4*

HEX HEAD SCREWS

BOTTOM BRACKET

14 GA, THICK ATTACHED
W/(3) 174" X 3/4*
HEX HEAD SCREWS

14 GA. DURASAFE

END HINGE ATTACHED SECTION

BOTTOM BRACKET
ATTACHED

W/ (5) 1/4" x 3/4"

HEX HEAD SCREWS

~———_CONT. STEEL RETAINER
W/ CONT. BTM SEAL

A—A (SIDE VIEW)

W/ (@) 1/4° x 3/4° N.T.S.

HEX HEAD SCREWS

AT END AND CENTER
STILES

37 18GA. STRUTS
ATTACHED W/ @)
1/4° x 3/4" HEX
HEAD SCREWS AT

END STILES

14GA. DURASAFE
ROLLER CARRIERS ATTACHED
TO END STILE W/ (@ 1/4" x 3/4°

2° 10-BALL STEEL 4.5°
(MIN> STEM ROLLERS
W/ 7/16" RETAINER FOR
NON-THREADED SHAFTS

TYPICAL BOTTOM BRACKET 4
N.T.S.

2 X 6 SYP OR SPF
(NO. 2 OR BETTER)
(1) 5/16 DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET I:IPTIIIINAIEI Lsmp

20 GA CENTER STILES\

DING \\

HEX HEAD SCREWS PER CARRIER

2 10-BALL STEEL
LONG STEM ROLLERS
W/ 7/16 RETAINER FOR
NON-THREADED SHAFTS

- TN
DURASAFE END HINGE @

14GA. RETAINER BRACKET )/
ATTACHED TO STRUT,

W/ (@ 1/4° x 3/4" HEX
HEX HEAD TEK SCREWS

TYPICAL
N.T.S.

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE

20 GA. GALV. STEEL
END STILE

1/4-20 x 5/8°TRACK
SPLICE BOLT AND NUT
OR (2> RIVETS

7/16" DIA. BOLT RETAINER
(1) PER ROLLER

TRACK MOUNTING DETAIL
N.T.S.

2" GALV. STEEL TRACK
TRACK THICKNESS 063"

DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN
THE END ZONE, ROOF AT ANY SLOPE, AND I=1.0):

WIND SPEED (MPH) 133 121 115 110 105

EXPOSURE LEVEL B C C D D

MEAN ROOF HEIGHT | 30’ 15’ 25 15' 25'

INTERIOR OF GARAGE

MAX. WIDTH 16°0"

DESIGN LOADS
+219.2 LBS/FT

naan 1nc /T
—244.0 LB5/F 1

SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERREJ TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD FERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR

2. EACH VERTICAL JAMB RECEIVES MAXIMUM DESIGN LOADS OF:

+219.2 LBS/FT & ~244.0 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 25 GA. MIN. (.019") ROLLED FORMED LIGHT
COMMERCIAL QUALITY

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

6. REFER TO TABLES ON THE PAGE 3 FOR ADDITIONAL DOOR WIDTHS
AND THEIR DESIGN PRESSURES

REV | DESCRIPTION OF REVISIONS DATE  [BY
3
MAX SIZE SNV N
16" WIDTH =~ Q
14’ HEIGHT ,\QE.-Q-E--.E«Q 5
(DOOR_HEIGHT d‘ } -
SUBJECT TO '. e ]
WEIGHT LIMITATIONS), o> S
I
(L]

Thomas L. Shelmerdine, PE {TX PE #85829)
Structural Solutions, PA {TX Firm #F-004063)

DESIGN LOADS ]
+27.4 PSF Z
-30.5 PSF ]

2]

TEST LOADS S
+41.1 PSF 0
—45.8 PSF T 5,:

wn

ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

MODEL #650 OAK SUMMIT w/DuraSafe
MODEL #600 STRATFORD w/DuraSafe
MODEL #950 HERITAGE w/DuraSafe

Short, Long, Flush & Oak Summit Panel’s

SZE| DRAWNBY  RIR| DATE 03/3/14 DRAMNG NUMBER
B | cHeckeD By DATE IRC-6016-133-17-

SHEET 1 OF 3




OPTIONAL SHDRT PANEL TOP GLAZED SECTION ¢(STRUT AND STILE LAYOUTS)
; SEDISEIENAL STRUTS MAY BE ADDED TO DOOR WHEN GLAZED FOR COUNTERBALANCE
URPO

: i
: K N A }
::

S = r

mE

OPTIONAL SHORT PANEL INTERMEDIATE GLAZED SECTION (STRUT AND STILE LAYOUT)

* ADDITIONAL STRUTS MAY BE ADDED TO DOOR WHEN GLAZED FOR COUNTERBALANCE
PURPOSES

I 197 i

10-5/8*

IMPACT GLAZING FASTENER DETAIL
N.T.S.

033° GALV STEEL INTERIOR IMPACT WINDOW FRAME
033° GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5° BITE ON GLASS

DECORATIVE PLASTIC INJECTION
/‘ MOLDED EXTERIOR WINDOW FRAME

25 GA, STEEL DOOR SKIN7
5/16° OVERALL

1/8° CLEAR ANNEALED GLASS

.090” PVB INTERLAYER

1/8° CLEAR ANNEALED GLASS

MANUFACTURED BY GUARDIAN

&SUREBDND S$B-190
STRUCTURAL ADHESIVE

2. 3/16° X 1/2° SCREW - USED
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME.

3. 11764 X 1/2° SCREW - USED TO fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY

SECTION B-B IMPACT WINDOW DETAIL
N.T.S.

3* 18GA. STRUT LOCATED IN THE
MIDDLE OF GLAZED SECTION ATTACHED
W/@) 174" X 3/4* HEX HEAD SCREWS
AT END AND CENTER STILES

37 18GA. STRUT LOCATED ON THE TOP
AND BOTTOM OF GLAZED SECTION
ATTACHED W/(@) 1/4" X 3/4’ HEX
HEAD SCREWS AT END AND CENTER
STILES

DOOR HEIGHT

DAMMNIHNIN

A

VERTICAL LIFT

p = —

ye vy

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3° LAG SCREWS STARTING 6° FROM ENDS THEN 22 OC. <1 1/2° EMBEDMENT
6 VER ACHMENT TO 2,000 PSI CONCRET
HILTI KWIK BOLT 3/8° X 4 STARTING 6’ FROM ENDS THEN 24” 0O.C. (2 1/2° EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8” X 2-3/4° STARTING 6 FROM ENDS THEN 20° O.C. <1 1/4” EMBEDMENT>
ITV/RAMSET REDHEAD (TRU-BOLT) 3/87 X 4° STARTING 6‘ FROM ENDS THEN 24” O.C. <2 1/2* EMBEDMENT)
L JAMB ATTACHMENT TO HOLLOW C-90 BLO
SIMPSDN 1/4* X 3° TITEN SCREWS STARTING 6’ FROM ENDS, USE PAIRS DF FASTENERS
(3 APART) AT 16° 0O.C. <1 1/2° EMBEDMENT)
HILTI 1/4” X 2-3/4" KWIK-CON II+ SCREWS STARTING 6 FROM ENDS, USE PAIRS OF
FASTENERS (3” APART> AT 16" OC. (1 1/4° EMBEDMENT)

2 X 6 VERTICAL J H -90 K <2000 PSI GROUTY
HILTI SLEEVE ANCHOR 3/8* X 2-3/4' STARTING 6 FROM ENDS THEN 22° 0OC. (1 1/4°
EMBEDMENTY (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wWOOD JAMBS BY OTHERS

1 el 1
WOnD CONCRETE HOLLOW BLOCK GROUTED BLOCK
L% STRUCTURE STRUCTURE STRUCTURE STRUCTURE
= I 1 1
- \
® I \ i \ \ .
ToT J T J |
1/2* MIN 2-3/4* MIN 1-172* |MIN 4
' 2X6 JAMB
TYP. 37 MIN
REV | DESCRIPTION OF REVISIONS DATE IBY
- E
MAX SIZE gg SN N
16" WIDTH .: o
14 HEIGHT | €8 ‘\EOFTE
L (DOOR_ HEIGHT EE ‘
SUBJECT TO xE 2
WEIGHT LIMITATIONS)| ~—ix 5
ax o
gg ,
DESIGN LOADS| £2 g
+27.4 PSF | 8¢ 2
-30.5 PSF | 55 3
< = c
w3 2
TEST LOADS | € 3
+41.1 PSF | EF ©
& z -45.8 PSF | £5 g
=] g o
A [a] [=]
E\p g ]
T i Z |8 B
< | [ =z |
21k Al Rl
| ENTRE/MATIC
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
MODEL #650 OAK SUMMIT w/DuraSafe
\ MODEL #600 STRATFORD w/DuraSafe
MODEL #950 HERITAGE w/DuraSafe
EL L Short, Long, Flush & Oak Summit Panel's
‘ SZE| DRAWNBY  RIR| DA 03/3/14 DRAWNG NUMBER
AVAILABLE TRACK CONFIGURATIONS
NTS. B | cHeckeD B DATE IRC-6016-133-17-1

SHEET 2 OF 3




REV | DESCRIPTION OF REVISIONS

DATE |BY

MAX SIZE

' WIDTH

14’ HEIGHT

(DOOR_HEIGHT

SUBJECT TO
WEIGHT LIMITATIONS)

DESIGN LOADS
+27.4 PSF
-30.5 PSF

TEST LOADS
+41.1 PSF

AiD o Do
—%49.0 FOor

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA {TX Firm #F-004063)

\)i

N
5921-G W. Friendly Ave. Greensbr.;ro, NC 27410

ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

TABLE 1 TABLE 4
DOOR STRUT SPACING (BASED ON RECOMMENDED SECTION C(NFIGLRAm TOP Section Center Stile Locations (Measured from Left Edge)
HEIGHT| A B C D E F G H | J K L M N T width | 2ne! Type th T
66" (512'1181/4'1251/2'136 1/4"|43 1/2'| 54 1/4" 67 1/2' (ft) (in) (in)
70 512|184 25 1230 1446 V2|60 V4" 7312 A
76" |512'151/4"| 22 1/2'| 33 1/4"'|40 1/2'| 51 1/4"| 58 1/2'| 69 1/4" 81" 100 |Oak Summit
8Q' |51/2'|1181/4"|1251/2'| 36 1/4'1431/2"| 54 1/4"|61 1/2'| 72 1/4" 851/2 :;g E::" -
86" |51/2'1181/4"1251/2'|3R 1/4'|46 1/2'|60 1/4"|67 1/2'| 78 1/4" a1 12! 120 |Oak Su?nmit y
g0 |512'1151/4"| 22 1/2'{33 1/4'|40 1/2'| 51 1/4"| 58 1/2'|69 1/4'| 76 1/2'| 87 1/4" ' 122 Short .
g96' |51/2'|1181/4"|251/2"| 36 1/4"|43 1/2'| 54 1/4"|61 1/2'| 72 1/4'| 79 1/2'| 0 1/4" 103 1/2' :: g dakngi‘mn
100" 151/2'118 1/4"')251/2'(39 1/4" |46 1/2'|60 1/4"|67 1/2'| 78 1/4"185 1/2'| 96 1/4' 103 1/2' 12: 4 Short X
106" |5 12|18 1/4"| 25 12|30 1/4'| 46 1/2'[60 14|67 1/2'|81 1/4"| 88 /2’| 102 1/4" 115 112" ey L2
110" |51/2'|18 1/4"|25 1/2'| 36 1/4"|43 1/2"| 54 1/4" |61 1/2'{ 72 1/4"| 79 1/2"| 90 1/4" | 97 1/2' {108 1/4" 1211/2 12°6 Short X
116" |51/2'|118 1/4'|251/2'| 30 1/4"{46 1/2'| 60 1/4" |67 1/2'| 78 1/4"|85 1/2"| 9B 1/4" | 103 1/2'[ 114 1/4" 127 1/2' Eg OakLg:‘;’nmm :
120' |51/2'118 1/14'|251/2'| 30 1/4"| 46 1/2"|60 1/4"|67 1/2'(81 1/4"|88 1/2' 102 1/4"| 109 1/2'{ 120 1/4" 133 1/2' 18 Short
126" |51/2'(18 1/4'(25 1/2'|36 1/4"|43 1/2'| 54 1/4"| 61 1/2'| 72 1/4"{ 79 1/2'| 90 /4" | 97 1/2' | 108 1/4"} 115 1/2'| 126 1/4"|132 1/2" gg 5 kLg“Q o
130" |51/2'(18 14" 25 1/2'|39 1/4"| 46 1/2'| 60 1/4"| 67 1/2'] 78 1/4"| 85 1/2"| 96 /4" {103 1/2'{ 114 1/4"| 121 1/2'[ 132 1/4"|145 1/2' 15770 aSh:?m'
136" |51/2'118 1/4"'{25 1/2"( 39 1/4")46 1/2'| 60 1/4"| 67 1/2'| 81 1/4"[83 1/2'[ 102 1/4"{ 100 1/2'| 120 1/4"| 127 1/2'| 138 1/4"|151 1/2" 12 10| Long ]| 29,
140" |5 12|18 47| 25 1/2°| 30 1/4"|46 1/2°| 60 /4" |67 1/2'| 81 V/4"| 88 1/2"[ 102 /4"| 100 /2| 123 1/4"| 130 1/2'| 144 14" 157 112" 120 Oaks,fg:'“"" :
13'0 Long A
TABLE 2 130 |Oak Summif] 27.
DOOR SECTION HEIGHTS LU f;‘:; :
HEIGHT [Btm| #2 | #3 | #4 | #5 | #6 | #7 | #8 R PRSI Ty
140" | 21" |21 | 21" | 21" | 21" | 21" | 21" | 21" T34 Shor )
136" | 21" | 21" | 21" | 21" | 21" | 18" | 18" | 21" 34| Long .
130" | 21" | 21" | 21" | 18" | 18" | 18" | 18" | 21" ]2; Oaksﬁg:mm -
126" | 21" | 18" | 18" | 18" | 18" | 18" | 18" | 21" 756 T Tong -
12700 | 21" | 21" | 21° | 21" | 21" | 18" | 21" 56 oa Sol 2.
116" | 21" | 21" | 21" | 18" | 18" | 168" | 21" 38 | Short .
0 | 21" | 18" | 18 | 18" | 18" | 18" | 21" ;g g Oaktgrfn 3.
10°6" | 21" | 21" | 21" | 21" | 21" | 21" i -
00 |21"| 21" | 21" | 18" | 18" | 21" 1: 13 f:,‘,‘,’g -
96" | 21" | 18" | 18" | 18" | 18" | 21" 137 10 [Oak Summi] 30,
90" |18 |18 | 18" | 18" | 18" | 18" 140 | Shor .
86" |21 |21 |21 [ 18" | 21" o] Long |33
80" |21 |18°| 18" | 18" | 21" }j‘z’ Oaksﬁ:;"m'“ 834
76 |18 )18 | 18" | 18" | 18" 72 Tong it
70" |21 | 217 | 21" | 21" 7473 [Oak Summi] 31.
66 2118 |18 | 21" 7474 | Shor .39 |
14' 4 Long 'i] .34 |
14 4 [Oak Summi . :
14'6 Short A :
TABLE 3 1:’2 OakL;:?nmi -
DOOR TRACK ATTACHMENT SPLICE 75T Shor O3
HEIGHT{A| B | C| D] E|JF ] G| H S 48 | Long B
66" |10"]| 21" | 39" | 57" 70" 148 [Oak Summil 32.
7 |10%| 21" | 42" | 63" 76" 13 12 f““‘ 59 |
76" |10"] 18" 36" | 54" | 72" 82" TF T ok Sam 55, :
8 |10"| 21" | 39" | 57" | 75" 88" 50 | Shor X
86" [10"| 21" | 42" | 63" | 81" 94" 150 | Long X
9 [10"] 18" 36" | 54" | 72" | 90" 100" B o joek Summi 35,
96" [10"] 21" | 39" | 57" | 75" | 93" 106" 52 Tong ol
10° _|10"| 21" | 42" | 63" | 81" | 99" 112" 575 5K Summit 34.13 |
10°6" |10"| 21" | 42" | 63" | 84" | 105" 118" 754 | Short . 156.00
11 |10°]| 21" | 39" | 57| 75" | 93" [111" 124" N T
T 6" [107] 21" | 42" | 63" | 81" | 99" [117" 130" e e T
12 |10"] 21" | 42" | 63" | 84" |105"|123" 136" 56 | Long :
126" |10"] 21" | 39" | 57" | 75" | 93" [111"[129"] 142" 756 |Oak Summi] 47.
13 [10"[ 21" [ 42" | 63" [ 81" 99" [117"[135"] 148" L
136" [10"]| 21" | 42" | 63" | 84" [105"[123"[141"] 154" o S e
14" |10"| 21" | 42" | 63" | 84" |105"|126"|147"| 160" 55T Shom -
ALL TRACK ATTAGHMENT SPAGING +/= 1/2" ALLOWED 1510} Long | 48.
WITH SYP OR SPF NO. 2 OR BETTER ONL 15' 10 {Oak Summit 48.
16'0 Short X
16' 0 Long
*SHADED STILES ARE NOT HINGED

MODEL #650 OAK SUMMIT w/DuraSafe
MODEL #600 STRATFORD w/DuraSafe
MODEL #950 HERITAGE w/DuraSafe

Short, Long, Flush & Oak Summit Panel's

SIZE| DRAWN BY

RLR

DATE  03/3/14

B i cHecke BY

DATE

DRAWING NUMBER

IRC-6016-133-17-1

SHEET 3 OF 3




